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QUESTION 1

Which two CLI commands could be used to see if vmnic link status is down? (Choose two.)
A. esxcli network vswitch dvs vmware list

B. esxcfg-nics -1

C. esxcfg-vmsvc/get.networks

D. esxcfg-vmknic -1

E. esxcli network nic list

Correct Answer: AE

QUESTION 2

Which NSX CLI command is used to check the GENEVE tunnel status on ESXi transport node?
A. get host-switch tunnels

B. get host-switch tunnel status

C. get transport-node tunnel state

D. get transport-node tunnel status

Correct Answer: A

QUESTION 3

Which three hardware-based offloads provide maximum performance for physical network interface cards? (Choose
three.)

A. Netfilter Flow Offload (NFO)

B. Priority Flow Control (PFC)

C. Receive Side Scaling (RSS)

D. TCP Segmentation Offload (TSO)
E. Source Route Bridging (SRB)

F. Large Receive Offload (LRO)
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Correct Answer: CDF

QUESTION 4

In a NSX-T Data Center environment, an administrator is observing low throughput and congestion between the Tier-0
Gateway and the upstream physical routers.

Which two actions could address low throughput and congestion? (Choose two.)
A. Configure a Tier-1 gateway and connect it directly to the physical routers.

B. Configure ECMP on the Tier-0 gateway.

C. Configure NAT on the Tier-0 gateway.

D. Deploy Large size Edge node/s.

E. Add an additional vNIC to the NSX Edge node.

Correct Answer: BD

QUESTION 5

What is required to configure a load balancer in inline mode?
A. DNAT

B. SNAT

C. Client and server connected to different Tier-1 Gateways
D. Client and server running on different transport nodes

Correct Answer: C

Latest 2V0-41.19 Dumps 2V0-41.19 VCE Dumps 2V0-41.19 Exam Questions

Latest 2V0-41.19 Dumps | 2V0-41.19 VCE Dumps | 2V0-41.19 Exam Questions 3/3


https://www.geekcert.com/2v0-41-19.html
https://www.geekcert.com/2v0-41-19.html
https://www.geekcert.com/2v0-41-19.html
http://www.tcpdf.org
https://www.geekcert.com/2v0-41-19.html
https://www.geekcert.com/2v0-41-19.html
https://www.geekcert.com/2v0-41-19.html

